5TD-X

M_ ATHEN] ATLCi class-06

0
o

g

\

0P cy/

A0¢ .

- Aggggﬂgﬂ_
o Waike dhe answers OF the pIoblents in Toxk book @,age%_%}
Find the sum af tho fiast &b tenms of each of the

|. ¥l Mme o OF G
asilhmelic 9eqUences below
W) 12,23, 34 CND) 2, %2 ,43,

) 1,22,33, -

M) ) W 22, 33, y
Xy =] .
d £52 | B_LL
| 24"
& o~ 26k
) ( ~ ; =
=\l + 24 x| (AN ; R %r]
o = 1r I+ ;?'1"5.) 4
i 3 ,_‘)_ 12 25
| 2. (286 /315
5 R36
Jum of 15k s 36535 2 575
loamy ——
W) 1,a3, 34,
2 3
Xy = Q) - o : Ei s
2, = %) :
. 13 :
o R (3 (os) Do
=R+ QL% N s
& + 26 368¢

-8




8 .32, 43

%1 =al

d=3-g =1

e iE A
. Ql + L x|
& + Q6L

4
7 &



2) What is the difference between e sum of 4he
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